
0513   Interlinear Index Study

0513  MAT 003 010 And now <2236 -hedista -> also <2532 -kai ->
the axe <{0513} -axine -> is laid <2749 -keimai -> unto the root
<4491 -rhiza -> of the trees <1186 -dendron -> :  therefore
<3767 -oun -> every <3956 -pas -> tree <1186 -dendron -> which
bringeth <4160 -poieo -> not forth <4160 -poieo -> good <2570 -
kalos -> fruit <2590 -karpos -> is hewn <1581 -ekkopto -> down
<1581 -ekkopto -> ,  and cast <0906 -ballo -> into <1519 -eis ->
the fire <4442 -pur -> .

0513  LUK 003 009 And now  2236 -hedista -  also  2532 -kai -  
the axe  {0513} -axine -  is laid  2749 -keimai -  unto the root
 4491 -rhiza -  of the trees 1186 -dendron -  :  every  3956 -
pas -  tree  1186 -dendron -  therefore 3767 -oun -  which
bringeth  4160 -poieo -  not forth  4160 -poieo -  good 2570 -
kalos -  fruit  2590 -karpos -  is hewn  1581 -ekkopto -  down
1581 -ekkopto -  ,  and cast  LUK 0906 -ballo -  into  1519 -eis
-  the fire 4442 -pur -  .
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